[ Efficiency vs vertpos |
= 0.1
£ 0.09
g
5.0.08
2
© 0.07,
L
$0.06
0.05
0.04f
0.03F-
0.02]

0.01

TTTTTrT
>

o O : b
“.E 1.2| b e p
o +4 HE
11r -] g - r - |-
- =3
£s
FORE 3 4T

1072 101 1 10 0?
TP vertr (cr%)

_58'—.— M_CRFFIT_T000evt
_CKFREFit_1000evt

—e— DM~
T —— DQM_MKFitREFt_1000evt
Efficiend DOM

TESTOLHIT _POS
~ 0.5

s R S s o
] SR IS S N AR S

Vs

> F
2 Eo PO PR IS s
90355 . . . . .

effic

s s S B
0.25 breeengeden S R o
g s o e
0.15 e T 1 N S

0.1 ***i*‘*’“*iﬁ# _____ ........

0.05

o 0 M | 11y | 11 | L1
= 14f : -4 ETEEC ||| ERRERES SEREEES
o o . b | 1 H
S5 T
50T 111 11): O

-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.5
>

8.0.45
0.4
£0.35

Sim

o
[

efficiency

0.25

o
()

0.15
0.1
0.05

0
1.4F

Ratio

1.2F

| SEEEEE R - O

..........

20 =156 -10 5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


